. _ oJLECE
AMS-FU—-X TFTRIFERINEE
AMS-F Series

Bobbin thread remaining amount detection device
AMS-F&R%| TLRERNEE
HufehBAE /)N —YUA b

INSTRUCTION MANUAL/PARTS LIST

i FH i BH 15/ 3B A5

LZRIAERL TR DIE AR, 3 COEREEIZE2B5EHIEE,
Fz. LWDTHIICERDDLDIC, COENGRBAE 2R B U TIEEL,
AREUNGHREAZE(F. AMS-FI)-XD T RESRIANEEICDOVTOIRBEETY,
AREGEZAMS-FI— X (CEDFF TEREIN 2R,
ER/ICAMS-FN) - ZOENERBIZD[ ZE(CDOWVWTOEREIE | %5 H.
tIn
z . 5 ITIR

TRIEFED_ETTRERATEE .
BE. MEARFEEZRF I DD AMS-F)—ZXDASAME
RS ESNTVET, FE0 T, BERBEDSAN—EPEIEL THHET.

Read safety instructions carefully and understand them before using.
Retain this Lnstruction Manual for future retrence.

CAUTION

This instruction manual is for AMS -F series Bobbin thread

remaining amount detection device.Read and fully enderstand the

Instructions glven under “IMPORTANT SAFETY INSTRUCTIONS” in
the Instruction Manual the AMS -F series before putting the
machine into service when this device is installed to the AMS - F

series.In addition, to emphasize the AMS -F series Bobbin thread

remaining amount detection device, some illustrations of the AMS -

F series are simplified.
Also, illustrations of the safety devices are partially omitted.

N TR ZAER], TEAEEATHT 55 2 A B B A AT B A5
TR B S e R, U BN P

EEEM
AAE UL 52 5% T-AMS-F R B 22 5% B R A2 B B
REAT i 22T AMS-F R BIIFAE RTINS, 15 8 S b B2AMS-F & 41 (1)
A ;I% AR “RTRZAERNEREI” , ERDBM G M.
VAT, RRATRE RN E, AMS-F FR A1 [ 47 BT T AL AR
N, e B E g s 1)

40226928-01




HIX/CONTENTS

[ RS R L LR R R P 1
Specification summary
I.BEPDOZFR/IC—YZAReeeeeeeeeecteectensccnncrannns 2
Parts list
II. FARESARMFE (FH) ORNERET IETTECEAU T o e e e e e - 3
About the breakdown of bobbin thread remaining amount detection device and how to respond
IVEUTFFENE cceeeeecececeeecceecenecencccncccnccns 4~7
Installation procedure
V ARG G e ceeeeececeeecectectectecnecnccncens 8~12

Usage explanation

Error code list

VILXTEYZAWFeeeeeeeceeceseosacesessacasessasasnsans 13
Memory switch

VII.BEBES SR H e eeveeecoecccccocccccocccccnnccccnnncsns 13
Points to be noted

(&, AMS-F 1Z24EEE AR,



D L .S 14
I o 15
L KT T2 ERMEE (A M RE N Tk e eee-- 16
B L T 17~20
Vo f LT« e vovenesasesesesesasesaensnenenenns 21~25
VL R — J e e v e v nenannesnsnssesesnesesesnenanns 25
VI AZRETF S e e vovananesesesesasesesesesasasasannns 26
LR EPAS
LR s 26

Hofth 5 AMS-F AR HEN LA A o



I. AHRBIE Specification summary
o AMS-FA TRIRERMEE HmiikE

Bobbin thread remaining amount detection device product specification for AMS-F

No. IH H = A s e &
vEES AMS-F— (AT TTRER T R BIRA1AEE
Overview Bobbin thread remaining amount detection device product specification for AMS-EN
. 23 ($FEERmR:40225114 v INae
1 A Model 71'70/3/(4%35 BEa ) tyhmE
Option (custom parts: 40225114) Set product number
AMS-FI)-ZXA T RESIRFEE
2 %ﬁ]—\ hame Bobbin thread remaining amount detection device for AMS-F series
POER 7
3 Applicable model AMS-221F
4 Tarjitgiﬁ‘ead YHCHIPREEL  There is no particular limitation
L—H—-AEz% U. RE>DEKDDBEZEEZRITET B, = N
e P - IE gz /T\- > _5%0 EBEETATEITD Efﬁm /ﬁﬁﬁ_
6 . I ; Using the laser measuring instrument, measure the Using a special
Basic specifications| Detection method - L . .
remaining amount of winding of the bobbin. bobbin

o AMS-FH TRIRERHMEFE HEEHIE Specification summary

O FRIZEZLIY-TFIVIUT, SSU%ZFLLL. BHRAPICTRNEIRSLZPSILETS
Check the residual amount of the lower thread with a sensor to stop
the sewing machine and prevent the lower thread from disappearing during sewing

@ HEEEIE Outline of functions
BRARCCZERALET .. LRHIERREDIERE(A)ZAIEL. ZOFBIGET 2ERUIDEICTIS—ZREUIS > 2EIELET,
I will use a special bobbin.Measure the distance in the state without thread and when it reaches that value,
it detects an error after thread cutting and stops the sewing machine.

HE®h Sewing B When detected

FROKDE

Remaining ROEDE
amount Remaining
of thread amount

of thread

P1



I.FREBERMEBED/(—YUA B
AMS Bobbin thread remaining amount detection device PARTS LIST

No.| Part number Item name(Eng) ES quantity
0(40225114 BT_RA_DETECTING_DEVICE_F_ASM| F R Me &l (7d) 1
140225115 BT_RA_DETECTING_SENSOR_F_ASM [ T RE& =&Y —FH 1
2| 40216386 SENSER_BASE TREETY-I5 (1)
3] SM6030602TN [SCREW M3X6 Ovh77F Lk M3X6 (2)
4( 40216387 SENSER_PLATE TREETY-BTIR (1)
5] SM6040602TP [SCREW M4X0.7 L=6 OvAZ7F MWLR MaX0.7 L=6| (2)
6 WP0450801SD [WASHER 4.5X10X0.8 ESYH* 4.5X10X0.8 (1)
7| 40214045  |AMS DISTANCE SENSOR CABLE ASSY [AMS JHIRET> Y4 —TJ)LiH (1)
8| SL4032591SC|SCREW M3 L=25 BEEFERANNRU M3 L=25 (2)
9 40216388 SENSOR_WASHER TRERETU-EE (1)

10| 40220753 BOBBIN CASE R ASM E>T—ARAH (1)

11| 40221637 |BOBBIN R RE>_R )

12| 40218829 |DISTANCE SENSOR RELAY CABLE [T 5 —JL [€D)

[ 13] 40216796 INNER_HOOK_PRESSER_B_ASM[FZE#Xx_B SS f&e 1

14| 40213302 FIX_PLATE & TE hix 1

15| SM6030602TN |SCREW M3X6 Ovh777F WL M3X6 2

16| 40216794 COVER_ASM_A HIN—#H_A 1

#7328 Optional parts

[ 17]40216797 [INNER_HOOK_PRESSER_C_ASM [(RE#Z_C_SS_#EH_ | 1]
EiRmz Board part number

[18]40226120  |MAIN PCB A ASSY [MAINEARFH [ 1]

P2



. FRIFEIRIMIRIE (F0) DAIERE MRS TTEICEAL T

About the breakdown of bobbin thread remaining amount detection device and how to respond

hEHXBE

5Fn tybhmEE > -8 INNER HOOK & EAR BEEMRLESHRU HIN—4E A AT>3 80w
name Set product number |AMS_DETECTING_SENSOR_ASM PRESSER B ASM FIX_PLATE SCREW COVER_ASM_A Optional parts
AR
e | D+@+@+@+6) ® @ ® @ ® ®
T SM6030602TN 40216797
e 40225114 40225115 40216796 40213302 40216794
Part number (x2)
(BB%E (B) (B) (B3] (EPfEam (M)
BRURAIEEL [Part connection item] [Single item) [Single item] [Single item] [Part connection item] [Single item]
HADZE(E.
ODHNETT, BRMEIIREE (40216797]
HEADZEE. FEVDZEMACED,
In case it is shared COEBGRDHNNETY, HEHIZLEEFI D,
with eye skip detection @QB@BIL, Depending on the sewing
device, only @ is WMNEHDFEE A condition, change the

NS
Contents

necessary.

In case it is shared
with eye skip detection
device, only this part
IS necessary.
@R®@® is
not necessary.

inner holder presser.

TREERINEEZFERIICL. BEIROZEENNETT,
To use the bobbin thread remaining amount detection device, it is necessary to change the board.

P3




V. TRERERMEFTE H{TFIREZ Installation procedure
(AMS-F BUKERBAZE/Y—-EANZ17 ISR
(Refer to the instruction manual / service manual)

1) EON-EHERZIT
Remove the shuttle cover and the shuttle retainer

~ Ve %:\

A
R

Tl

A

§7
2) FRERSMRAFEZED{TID,
Attach the bobbin thread remaining amount detection device

BRMRENZEECDIIRIBE(E.
ZDBEPI(40225115)DIHAFF TS,

In attaching to the skip detection device,
Please only attach this part (40225115).

40191400%. 40226120(_3#89 3,
Replace 40191400 with 40226120.

P4



4) E2Y-OIRIH(CHMI— FeEHL. X1 BERITHERT 3.

Connect the relay cord to the sensor connector and connect it to the main board

oY -0%454 - R XA ZEARN
To main board

sensor connector Relay code

CN54
[GEs |

5) =2>0O&EIREZAND. Turn on the sewing machine

6) Y- EZMHERID. Check the sensor setting

ISERFREERTEN. [FASTICRTANMERT 3.

Rk

ODOWNMY> M EIMU=ICERRIERE(ICRSI SPED ]
Q@TEACHMNA>Z#HIT=[FAST IR~

QGDOWNMNY> IMRBU=FED

Check whether response time setting is "FAST".
Confirmation method

@©® DOWN button Press and hold for 3 seconds = Set "response time" "SPED"
@ Press the TEACH button = "FAST" indication

®DOWN button Press and hold for 3 seconds = Return

7) T2Y-0D%EZTS. Check the sensor setting

ISERFBERTEN. [FAST IR TORVBEFERTEL TZE0,
If the response time setting is not "FAST", please set it.

oY —-sEFIR

T T = —— — —

\J
R;%ﬁrn'lﬂi’ : N P
i ES E=]
g, TEACH
=9 P': '

CHr SQ.. A
1=oe= | R RE Gt

A
v [TEACH #®L

-

"

? DOWN : 3@ &R L
v

-

Measurament display

Sensor setting procedure

A
' DOWN: Press for 3 seconds

Response time

P5



8) o Y-fiuiE%zMESRI 5. Check the position of the sensor

RE(FHERICAZEUTHDE I, 20U TXUEEL,

L—Y-Df&EF. Z8CCHHmENS7+0.5mmTY,

Although the equipment has been adjusted at the time of shipment, please check it just in case.
The position of the laser is 7 £ 0.5 mm from the shaft end face with the hook shaft core.

i
shaft core
£
o 5 L =it
3_ Laser core
t{FHE ] ~
point of a
sword is on
A the lower side

9) > Y-DfiiE%Z:H%E I3, Adjust the position of the sensor

T —-DMENGITVRWEE(. FAZEZBFEVELET.
If the position of the sensor does not match, please adjust.

;A 75E How to adjust

-ORUICT, IRERENAEZRAEL. BET 3.

-@QRUICT, BXRENAEZRAZEL. BET 3.

-Adjust the direction of the red arrow with the screw of @ and fix.
-Adjust the blue arrow direction with the screw of @ and fix.

L —H— %45 <
Laser beam 7\ N =PNEIEN
" vy / L—4-0
' TS ME
The black arrow
indicates the
traveling direction
of the laser

10) B1—RZERR/TLONMDECET B,
Bundle each code firmly and securely

P6



11) ENWN—Z2EOFF5. Attach the hook cover

HENH =DV TEUS TSI THIZE L,

Please attach it to the mounting hole of the auxiliary cover.

P7



V .EMAERE Usage explanation

OFAHDKE>Z AN EBROREST—AZARET B.

Prepare a special bobbin case with a special bobbin.

o ZEMNEERZBWVIRESZARUTIZEL,
Prepare an empty bobbin and a bobbin wound with a thread.

IRE A — A D4FEL
Feature of bobbin case

TVARDMRZEDY LDERV
The hole shape is longer
than the standard one

RESDANT
How to insert the bobbin

REERFORE>DANT
How to put a bobbin when

RES O BTN, RESOFEICTNSD,
TR ZBHEC TN FICRBEICEE TS,

RET—RCAND
There is a hole on one side
of the bobbin and put in
the bobbin case so that the
hole can be seen

There is a hole on one side
of the bobbin, and the hole
is mounted so that it is on
the bottom.

@K302: T RIKERIMEEEEIRZ " HF I (GGRELE T .

K302:Set the lower thread detection function selection to "optical".

P8



QO FREEIRA Y RARZITVET,
Adjust the lower thread detection sensor

1)

2)

3)

4)

5)

3)

4)

2)

FIvoTOUSL—ENS" 1 0 9 : FRESHRAT AR ZERLET
Select "I 0 9 : Kinbin residual quantity detection sensor adjustment”
from the check program list.

ME>ZIUIRRE T T DR EEEUS R > 21U T HEZEUSUE T .
With the bobbin removed, press the sensor reference value
acquisition button to acquire the sensor value.

ZEDOINE > ZAFFTARBE TR EHE AT HBEES NI > 2L T,
ToHEZEISUE T, (FRRSNZEFEEBEDEDERDFET, )
With the empty bobbin attached, press the sensor value
acquisition button for yarn remaining amount judgment,
(The displayed value is the difference from the reference value.)

FEEVRE 2 TR TSN HIE A HERUSRI > Z U T,
o EZEISULET ., (RRSNDEFEEBEEOEDTERDET)

With the bobbin wound on the thread attached,

press the sensor value acquisition button for judgment of
forgetting replacement to acquire the sensor value.

(The displayed value is the difference from the reference value)

RUNHEAR. SN HEROTHEEZADLET,
Input adjustment value for thread breakage judgment
and replacement forget judgment

5)

TR BRI TN ISR E

PO



@HUSME, FAXR{EDREA Explanation of acquisition value, adjustment value

EREYIEE
3) DOEUSME
Remaining capacity
judgment value
3) Acquisition value

3) OFREME(FRE)
Adjustment value of 4)
(margin)

TSN HIERE
4) QRSB
Forgotten replacement
judgment value
4) Acquisition value

U -E4E(E
2) OEVFHE
Sensor reference value
2) Acquisition value

4) DFREE(RME)
Adjustment value of 4)
(margin)

v \&

Y-
sensor

<EHEBOIZTOFER>
BHEDIICTERT?%RE. REREHER T HEEIBRENHER T HEL
1B TEEUET 920z > CHEHTIEETY,

BBLEDOZS O TIEL). 2)0H 21TV XEYZMYFDK347~3500E%
18803 U ERIVBISEETEL TIZEL,

<Use with multiple sewing machines>

When using with multiple machines, it is possible to use the data acquired

by one machine for the sensor value for yarn remaining amount judgment machines.
and the sensor value for replacement forget judgment with other sewing

Do only 1) and 2) for the second and subsequent sewing machines,

and set the memory switch K347 to 350 to the same value as the first sewing machine.

P10



ONIVADEERITIRVET

1) TRAUAZTYTHIAEIEII NI AETELF T,
2) FRIDVADEEEZRELFT . (HERME : 1=10%t)

FREAEBEZARINU TS FRDDIINNIS "A—IN-(TIRBFT,
FREEIS—(CER5T BEROIEELIRDFT.
THRADZAE108 TLHDORTT,

1) Set the bobbin thread counter to the up counter or down counter.
2) Set the bobbin thread counter setting value.
(Recommended value: 1 = 10 needles)

The remaining thread error does not occur until the bobbin thread counter
counts up after detecting the remaining thread value, and sewing is possible.
The lower thread counter counts 1 with 10 needles.

<ER>
- FROVIMENELIEREBNODZ AL TRESRINIHEELFE A,
- FRAVIADETEENASVGE (. FTRIEREREIECBOITE T REAERMIMELFEA.
(BIR(E, SREMEZLI0ETBE, LY —MRALTHNS51008HHEOTLEVEY)

<Caution>
- If the bobbin thread counter is invalid or the set value is 0,
bobbin thread detection does not function.
- If the setting value of the bobbin thread counter is large,
the bobbin thread detection does not function even
if the bobbin thread reaches the set remaining amount value.
(For example, if the setting value is 10, 100 stitches will occur after the sensor detects it)

REME : 1(IEER1E)
Setting value: 1 (recommended value)

PYTHII NI —
Up-down counter

P11



®BHEsHAA  Explanation of operation

- RERM(CFRERENTEEHTEINEZ S, TRIU90HD> MRIIELE T,

- TRADADNTDME(L. “K346 : RIEEBHIEILZ) " TRESNIA(II TEHFINET,

. Té&hf?/ﬂb\b'j/ivr N—(CROIEGE. REEHTEIIZTH.
A= B TIHREVIBDIEBNE DI ZRY )L ZIRE X T IEEF(C.
#éiﬂﬁ%‘tb@%ﬁ(il@— RRY) TORERIBAIAIE(C, “E253 RUINIS—"HKRRENF T,
RUIDETE, RUIDEOREVIBHIC'E253 RUINIS—"HEREINET,

- "E253 RUINIS—"HTRRESNIBE(E. REZIHRAL THISBUY MU TZEW,

- IRESHELIBEN TWBIH AL RYIVRIENBIREL R E T,

- REIHNHRENTLRWBEE(E, “E254 NI S —"HERRSNFT,
RE>ZIZHAL TI 5 —ZAZBRU TKEE LN,

- RIWENIS—FEREHREDHZIRENTVRWEE. IRESZRIINC LIPS X T BERS.
FEERF— MRAIC L AR BRI (CBERRENIS-HER RSN,

- FRATAOHI> NeRIELTHB AT A== (CRBEITRE SR E TS A
TNV ADIRTEEEI)TUTIZE W,

- If it is determined during sewing that the bobbin thread remaining
amount setting value, the bobbin counter starts counting.
- The count value of the bobbin thread counter is updated at the timing
set in “K 346: Remaining thread determination timing”.
- When the bobbin thread counter is overcounted, the remaining thread
determination timing for each pattern at the time of pressing and lowering
by the pressing pedal after the sewing start movement, and at the start
of sewing with the start pedal if pressing is invalid,
E253: Thread The remaining amount error is displayed.
- For each thread trimming, “E253 Remaining thread level error”
is displayed at the beginning of sewing after thread trimming.
- If "E253 Thread remaining amount error" is displayed, replace the bobbin and then reset.
- If the bobbin has been replaced correctly, you can operate the pedal.
- If the bobbin has not been replaced, "E254 Forgotten replacement error" is displayed.
Replace the bobbin and clear the error.
- Forget-for-replacement error If the bobbin has not been replaced even after
clearing the error, the for-replacement error will be displayed again
when the presser foot is lowered or the start pedal starts sewing.
- If you replace the bobbin before counting starts after the bobbin thread counter
starts counting, clear the current value of the bobbin thread counter.

VI.IS5-1—R—E Error code list

No. /5X=5% AZ Contents 1&IR%% Recovery method
Parameter name
= — TROKDENKEULEICRDELIZ, ORE> 73T D
Tttii?ﬁiﬂiimg RE S AHEAT RO T, @QUtYRE>
E253 amount detection The remaining amount of lower thread
error has become the set amount. ®DReplace bobbin
Please replace the bobbin. (@reset button
RE>OREENZ IR UEU, ORE>%ZZHT S
MRESRHAENTS— |RED R HZITIROTIZEL, QUtzy k5>
E254 Bobbin Detected that the bobbin has been
replacement error |replaced. ®Replace bobbin
Please replace the bobbin. (@reset button

P12



VI. XEUAM/YF Memory switch

T RESBRABHEDNE — Ay FENEY— Ry F—

B0[1.2FXRIEN11.FENTE ICRREINET,

The memory switches related to bobbin thread remaining amount detection are displayed in
“1. All” and “11. Device Settings” in the memory switch list.

No. J\SA=TE HE RS ERAL Z Contents
Parameter name Configuration Editing unit
Tig’ff?” 0:4E%h(Invalid)
Eax
(30p | Bobbinthresd |LEAEL _ FRBRRNOMETRES S,
residual amount 23658 (optical) Set the bobbin thread remaining amount detection function.
detection function |_. FAL0P )
celection 7 JA) b(Default):0
0: /49>t
AT ER (=7 | (Bvery pattern) SBEBBEOHERTAIIA I ERET S,
K346 obbin threa AL - Set the timing to determine the bobbin thread remaining
remaining amount [(Every thread |
judgment timing |trimming) amount value.
7 JAJL N Default):0
sl IS T RO ENSIR LTS SHMELRTES 3.
K347 re;du;r; an:iint 77l N(Default):0 1 Set a threshold value for determining that the remaining
judgment threshold amount of bobbin thread is to be replaced.
TRESHITEREE N
Bobbin thread |/ 2 TROBEMENHaLHITTDIREEME (RB) Z™EITD.
K348 residual amount >l N(Default):0 1 Set the adjustment value (margin) to determine that the
judgment ' remaining amount of bobbin thread is to be replaced.
adjustment value
RE > SN TERT
1B 0~1023 MES TN E IR I DREZERTE T D,
K349 [Bobbin replacement 7L N(Default):0 1 Set a threshold value to judge that bobbin replacement has
forgetting judgment ' been forgotten.
threshold
7|'\t/ }ﬁ,u\nﬂﬁ
HEfE 0~1023 RSN EFITT2REEE (RIB) ZRTEIT Do
K350 |Bobbin replacement =)L (Default):0 1 Set the adjustment value (margin) to judge that replacement is
forgetting judgment 7 ' forgotten.
adjustment value
TREECLUEEE i
Bobbin thread |, 155 TREETHOREEZRTE I D,
K351 residual amount 1 Set the reference value for the bobbin thread remaining

sensor reference
value

7). M(Default):0

amount sensor.

<FE>K347~K3510Df#El%. POTERELEMENANDETNIT,
VII.E3==ZEI8 Points to be noted

@® E2Y-EFL-Y-TIODT.

BEiE. BICHTROLEIICUTZEL,

Since the sensor is a laser, please do not hit directly on the eyes.

Q@ REDRES THERINFIBIEETI N, FROZXDEN/SYFHIRDET,

Detection is possible with standard bobbins, but the remaining amount of bobbin threads tends to vary.

@ REBEFICLOT FROKOVREE NIYFFIOT, RIBEIHEFERENEEZL TS,

The remaining length of the lower thread varies depending on the yarn count, so change it if it is too long.

@ BRURI=RBEL

© MmERAxEE

HADZE(E 402251 15EBROAHNHETT

For common use with SKIP_STITCH_DETECT_DEVICE, only 40225115 and board are required.

HADZE}. BIREFESSHDORETAFINEALKTY.

In case of using the cloth thickness detection device in common,

it is okay to obtain the board with either device.

P13




MR E

OMS-FR T LKRERMEE ~mAEH

No o H 4 NE %
MEE AMS-F 225 T R in 2226 T 223 B R A A B

1 B BEECAE CRERILT I Z 0. 40225114) B S

2 SRR AMS-FRFIIA  TFRERMEE

3 xF G AMS—221F

4 SR Te s 3 B

6 HEAR K RN T fEF O ERS, WEISTRERGLE. AL R YR

OMMS-FFH Tk EHRME

ORERNBTHETLKE, FIb

@ UjHE ML

L IR . MEZASERERES (A,

B DRt E

gAML, Brlbsgdidizh T2M 5T

4]

ZAPIPS

P14

—HIEPIZHUE, ViZEmsiamiig, JHe 1Rl

Litqunling

EZAPLIPS =




I TZREFRNEENTHHEE

No.| Part number Item name(Eng) mt quantity
0(40225114 BT_RA_DETECTING_DEVICE_F_ASM| FRIx=R A= EF (#d) 1

~ 1[40225115 BT_RA_DETECTING_SENSOR_F_ASM | F iR Eia At T —Fil 1
2| 40216386  |SENSER BASE THREECY-—TI58 D)

3] SM6030602TN [SCREW M3X6 Ovho7F mILE M3X6 (2)

4] 40216387 SENSER_PLATE TRESTOY-EUTIR (1)

5 SM6040602TP|SCREW M4X0.7 L=6 Ovho7F MLk M4X0.7 L=6 (2)

6] WP0450801SD|[WASHER 4.5X10X0.8 ESYH%K 4.5X10X0.8 (@)

7| 40214045 AMS DISTANCE SENSOR CABLE ASSY |[AMS SRIEE> B4 — TR (1)

8| SL4032591SC|SCREW M3 L=25 PEEATERAN/IRL M3 L=25 (2)

9( 40216388 SENSOR_WASHER TRESsTOY-EE (1)
10| 40220753 BOBBIN CASE R ASM INE>T—ARME (1)
11| 40221637 |BOBBIN R RE> R 2)
12| 40218829 |DISTANCE SENSOR RELAY CABLE |5 —JIU (@)
13| 40216796 INNER_HOOK_PRESSER_B_ASM | P2/ Xx_B_S5_fexy 1
14| 40213302 FIX_PLATE [EITE AR 1
15| SM6030602TN |SCREW M3X6 Ovho7F MLk M3X6 2
16| 40216794 COVER_ASM_A HIN—#E_A 1

A733>8Bm Optional parts
[17]40216797 [INNER_HOOK_PRESSER_C_ASM [FZx_C_SS5_faa [ 1]
HiRGigs Board part number

[18]40226120  |MAIN PCB A ASSY [MATNEARA [ 1]

P15



KT TL£%ERMEE (4H)

HIF A S R X 73 7%

B R R 324 PR 3R B Bl EARE R HZRBUA AR
D+@+3+@+® @ @ @ ® ®
40225114 40225115 40216796 40213302 SM6%iggP2TN 40216794 40216797
(=25 ] (452 [ 53) (ZEB] [ 5]
Q1 R s L R
e, HE. 1 5 e 2 B [ [40216797)
. AR ERL) KA,
A ER AT A5 T o A L TR
REEQODG).

NTERT2KRERNEKE,

P16




V. TR ERXMEE ZESEP
(ZHZEAMS-FERUHT / RESFHD

1) P55 A NI BUA ae A

o
T

A

2) WIT IR BRI E .

BB IR A2 B,
THAVAN 223512306 (40225115) &

3) EEHRMATNIENR .
1940191400F #: 240226120,

P17



4) FERANLGRERLS: PSP Ak 2L, AR5 IER A I

TN FIE A Hh Ak FL2k

CN54
mo—»m—<
[cnss ]

5) FTITEEZINLHI IR

6) BN 28 115 5E
B\ TR 2 [B) 152 58 A2 75O “FAST” &
iR NVIRES
OKALDOWNZEH 3FP=>i B2 B 8] ¥ 78 A “ SPED”
@ FTEACHIZA= 57~ “FAST”
@K ALDOWNIZEL 3FP= 1R [A]

7) BB A
o L ST ) B AR “PAST” AT HOE

Procedure. BB B

Measurement display

gDOWN: Press for 3 seconds
Response time  ceemmmemcememceee el
setting - High precision Standard
TEACH! o) - :
,5595.:;_ ‘H'—Sa_‘“"’w”l:. Skd,’ oFASE |
Cloxc] S ISlonc]
E'Imn-m -------
[

P18




8) t\/ﬁ_m'ﬁz%%ﬁﬁmujéo Eﬁ%ﬂﬁ%&{jﬁ
FEFHERHGARRUTHDEIN, 2OTHMHERL TIEEL,
L—Y—DAI&E(F. Z8l S CoiRENS7+£0.5mmTI,
BRI AT TR B2 TURI A —, EFIA.

RTBBEGFOALE, EAGG L, W67 20, 5mm.

©
l RS IX TR
A R £l

9) RN EALE
BB B B £, AT

L REDSPS
AEHOBR2, AT AR KT, REREE
MEH@IRL, W IEES KDL, REHE.

10) R R SR Al R HERA AL & .

P19




11) ZHAFARLER.

4 5 A 2 4 TR BB PR 23 7L

P20



V. R 7 E A

OHEETIN T LRI L YR &

o HHERZENYIRESE T LYK,

G G FFE

IR IITRNTT 1

B N GIRTINTT %

IR — A A AL, TN
giR&T, HEReE DL

g —Nm B AL, 2
kAL T

@ K302: 4t 2 EIRA DL FE i e N “ e il .

P21




QTN LI E IR TN N A5 o

1)

2)

3)

4)

5)

3)

4)

2)

MEEEFEF — SRk “109: TR EIRABN AR

FEPR FYIRAPIRGS S, 4% NN a3 S UG 128, BUS IR N 34U .

R NGIR LHARS T, $2 T ik b e RN 25 B2 4l
WA N A A . (R EUE N B RMEEZ RN Z . )

FE 2275 T GTRIRIRES T, 4% st 50RO 2 AU S 4%
“HURREN AR BE .  CRoRBE N SEMEEZ W E . D) 7

i A 22 ¥ TE R BBt S TE R Y i 1 (B

5)

T B iR TR HIE TR E

P22



@BAFHUA 79 B E A 1

3) HETE (9Etn)

eEHEE
3) WS HE

D Wi
1) [fES

JEONE B I A N
2) MBSEUE

4) KBTI E (Ba)

(TEZ G4 LAEHD

2 BLEIINL LA, O% T 225 A e P I I o 50 (AT BE e 30t 0P I o B
U1 & RS R T e 2 gl

F2BZ G MEEIINEAT L F12) , ERAFEIT R K347~ 350 (1 44 fE

BOE NS — G SN R R UE .

P23



O syt

1) RN 22 v h s Boe ST RS B T 4
2) WOE N BN BOE . (HEFAE: 1=1080)

WL ERAEZ )R, A8 N2 B v e i, A IR E#R, aTLgEs),
KT N HES, A L0EHE RN — M B,

(FEED
o N2 BER AT e R B e (B N OB,
T2 B Em R ATCTE TAE
© N HER e I R, T 22 B AL T i e ik E VA,
Tk ERmmA S TR,
(i, anRBE e EN10, MERIZRERA 2 )5, 4821100%)

SXTEME @ 1(HERME)
BOEME: 1 (HEEED

TYTITI NI~
IR N i

P24



®zh1E A

C ESEYNEREF, MHE T MR EWEER, T2 G

© T TR EUE, R “K346: 2hR B HERT L 155 AL EIA N 15 2 5T
© N THEES TR, ST vk E A E AL,

TEGA BRI UREE 1% 5)) J5 0 R IS AR VR F R 0T B R

WA R AT TGN T, I BT 4 42 21,

SN “E253MWr 424k

s BRI L, VLG5I, Box “E253V12245i%7 .

- R ERT “E253Wr2HNRT , IEERERYIRZ 5, HTRE.

< WRGIRIERE R, winT DA E B IR

- IR KR ERYIR, i S “B254HE Hust SRR .
WHEMGIR 2 G, MR,

< WRAEMRRR T IR SRR S, RERGIR, TEREESIRE A T R R,
B TR AR AR A F R IR 42210, S BB BoR B s iz,

- Nt T e s, R e mT, R TSR,

THTE R T 20 HEs 0 24 B

VI, $EiRYmAD— e

No. SH AT SHAT W i
o [EEIF R DEHYiH
E253 &yigj:*%[]%ﬁlﬁ ﬁ%%ﬁéﬁﬁo @EE};%H
\ I T DFE i
é vAS) %Eﬂﬂ
E254 | OMERIUSHIR | ooy ie OF B 141

P25



VIl. 7RfigFFx

TR, BRI <1 AMERT M “1L EERE L.

No. SRR WIE Y 4 BT gAY
0: &3
A= by =K I . n VL= = 49T L
K302 | BEFEIEERAL | LA i BT L R RAITIAE,
BE 2:9EET
R0
\ X 0: 81MEx
24 B S| T R e
K346 | THEEMERER || oriny i VTR 4 B E R T AT
i :
2X0:0
i |0~1023 o .
K347 | THERHERE |4 0 1 WIE N 2REHIE R E
A s 54 0~1023 . e | e e =
K348 | FT4kEHEHYE BR -0 1 WIE T 4REHTERATEGRE)
é‘ fﬁ ‘%E‘Ilﬁ_“g ~ N == N==% Wy ==
K349 | FREILSHIER 0~1023 1 e E G
=) 2BA:0
é‘ % ‘%E‘Ilﬁ_““ ~ AR A ek W == =
K350 | FREILSHIE 10~1023 1 YR E R S B (R E)
TE 2RA:0
K351 | MEAREERERIEE |0~ 1023 1 VETE T 45 R SRR
& 2HA:0

GEEDO>HKIATEK3ST, P& EREM N .

Vil. BE=E1In

© RENA R BOCAFER,  DIETE AN e B IR .

@ HMERFRERZIR, WATDER. (Hi2, FikEA R/ RE.

@ iR [E A B A E, R E402251 15F13E K

© [FIHfE AT RHE FER AR BN, AR B N T IR 17

P26

Q@ P22 ST, LR RKE RS MIARERI, B, REK, HRTRE.




	表紙／COVER／封面
	目次／CONTENTS／目录
	Ⅰ. 仕様概要　Specification summary
	Ⅱ. 下糸残量検知装置のパーツリスト　AMS Bobbin thread remaining amount detection device PARTS LIST
	Ⅲ. 下糸残量検知装置(組)の内訳と対応方法に関して　About the breakdown of bobbin thread remaining amount detection device and how to respond
	Ⅳ. 下糸残量検知装置　取付手順書　Installation procedure
	Ⅴ. 使用方法説明　Usage explanation
	Ⅵ. エラーコード一覧　Error code list
	Ⅶ. メモリスイッチ　Memory switch
	Ⅷ. 留意事項　Points to be noted
	Ⅰ. 规格概要
	Ⅱ. 下丝残量探知装置的零部件清单
	Ⅲ. 关于下丝残量探知装置（组）的构成与应对方法
	Ⅳ. 下丝残量探知装置 安装步骤书
	Ⅴ. 使用方法说明
	Ⅵ. 错误编码一览
	Ⅶ. 存储开关
	Ⅷ. 留意事项



